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LIBRARY AND INFORMATION SCIENCE

Paper - 11
1. What type of research is the ‘Chain | 1. 9leliletell ‘sjuicll Bl sl Ysie
Procedure’ of Ranganathan ? dollel & ?
(A) Basic Research (A) Wl Aeltot
(B) Applied Research (B) Guysel (Guallo(l) eluat
(C) Pure Research (C) Y& dslltuat
(D) Solo Research (D) Wsel dAlluat

2. Deductive logic is related in spiralof | 2. dsulds ugldej aulstz adn(spiral) &

scientific method with [omet b W Aol B A
(A) Zenith (A) Rellu
(B) Zenix (B) Mellal
(C) Nadir (C) olfer
(D) None of these (D) wUMic] 35 uaL =&l
3. Project Gutenberg was started by 3. ‘Ul®se 22alod] Slotl g A3 sl
veall ?

(A) Samuel Green

(A) At Aflat
(B) HESA Mt
(C) Bill Gates (C) Qe Aey
(D) Michael Hart (D) WESsct &2

(B) Michael Gorman

4. Theory X and Theory Y of behavioural | 4. ddetcell QauiRuztell x @Qadl ua y

school was enunciated by @2l et

(A) Abraham Maslow (A) wopten Hell
(B) Elton Mayo (B) ueeet NA

(C) Douglas McGregor (C) SoElAU ASAIR
(D) Henri Fayol ©) &fl 30t



. Which of the following is not the web

browser ?

(A) Firefox Mozilla
(B} Google

(C) Netscape

(D) Internet Explorer

“Controlled Group” is a term used in

(A) Case study
(B) Historical research
(C} Experimental research

(D) Descriptive research

MOOC stands for

{A) Massive Open Online Coverage
(B) Massive Open Online Curriculum
(C) Massive Open Online Course

(D)} Massive Open Ongoing Course

CCF stands for

(A) Current Classification Format
(B) Current Communication Format
(C) Common Communication Format

(D) Common Cataloguing Format

. STN International database is

published in subject of
(A) Chemistry

(B) Philosophy

(C) Social Science

(D) Law

5

o Asiiuiell 53 At GUENBR el ?

(A} staRslel Joflew
(B} o1

(C) al2¥tu

(D) So2relz BsULEARR

@Bt 2@ (controlled group) ue A
Gualloi A 8 ?

(A) 3 w8l

(B) Jlldsl@ s dglust

(C) yallolieis gltlol

(D) cBletteds dalluet

MOOC (A 3l 2 ) of Y3 oin :

(A) A{la wuet WatclESeot saey
B) Al llust BlalcliSot s3sAM
() Alel 20Ut Aot Sat s1d

(D) Alla duat eSO S

Al Al Ag (CCF) f Yz oun :
(A) 522 sclRB3as 8l
(B} 5202 5lg)lidatel §ile
(C) SHel Shgll3alet slile
(D) Slnet decltoflol slile

AY &l Vet (STN) Be2AAAA SN
[l ysiEld B,

(A) RaLl
(B) clectsllol

() AHzs (Astiot
(D) SLAEL
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10.

11.

12.

13.

14,

A Trade bibliography is

(A) List of Author Bibliography

(B) List of Special Bibliography

(C) List of ‘Books in Print’ or for
sale compiled by a Publisher

(D) List of Books of Trade Library

Which 1s the highest measurement
of Byte ?

(A} Petabyte

(B} Yottabyte

(C} Zetabyte

(D) Exabyte

Which of the following is not a
plagiarism detection software ?
(A) Turn-it-in

{B) Urkund

{C) iThenticate

{D) Cross Ref

Which one of the following is an
Indian Law Database ?

(A) Manupatra

(B) Scopus

(C) Emerald

(D) Ebsco

“Communities” is a component of
following digital library software
{A) GSDL

(B) D Space

(C) Fedora

(D) KOHA

10.

11.

12.

13.

14.

2s [@eAslongl 9 & ?
A) sl cusHayRl el
(B) @l atgHayRed ud

(C) ‘s Bol o2’ WA Y5L9LS GL3L
Al Hizell Asl@d 2uel
(D) 25 dauctalloll Ycistoll atel

W2 (Byte) of dlell g Huat
587

(A) Qaloutse
(B) awedlese

(C) MDelelgse
(D) dlauoisse
ol Aetmiell 52 Wsed Wil A

aluc Hige] & ?
(A) 2el-8e -8al

(B) G505
(C) W Aodlde
D) Sl W

oflAetmiell 52 eucdla staet
32 B 2

(A) Hejuloll

(B) slud

(C) WAACS

(D) Awsl

‘Sl2jAdloy A ol Aot U8l s2u Slowect
Asede] U2s 8 ?

(A) % A St A

(B) Sl

(C) %Sl

(D) slel

s
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15.

16.

17.

18.

19.

SAARC Documentation Centre is
located at

(A) IISc, Bengaluru

(B} National Library, Kolkata
(C) NISCAIR, New Delhi

(D) Delhi Public Library

Update frequency of INSPEC is
(A) Monthly

(B) Weekly

(C) Annual

(D) Forthnightly

Demand and supply theory of book
selection is developed by

(A) McColvin

(B) Melvil Dewey
(C) Drury

(D) Peter Drucker

Creative Common Offers CC-Zero for

(A) Vendors

(B) Publishers

(C) Copyright holders

(D) Bibliographers

Encyclopedia Americana consists of
(A) 20 Volumes

(B} 25 Volumes

(C) 28 Volumes

(D) 30 Volumes

15.

16.

17.

18.

19.

UE (SAARC) Slsyio2atel Aot s
RAA D ?

(A) & wief Ax AL, dduga

(B) Aaoct Al sletsal

(C) Qu¥2, o Reél

(D) Zcdl uoclls cusa

‘BorUs'oll Acltlel MK B,
A} wRs

(B) wsalds

(C) s

(D) Wralds

Yacls uAEMlefl Hidl uA Yesioll
Rgict (Theory) £2delellR

(A) As siecllot

B) AQd YS

(©) 4%l

(D) fle? §5°

BRdlal SlHel sl A fl - BA
L He D

(A) [A3cu

(B) ustas

(C) sWlrig2 w28

(D) AFAYRSIR

AotAAsAR B HARS
uisl w1 B.

(A) R0

(B) 24

(C) R¢

(D) 30
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20. Lecture series, story hours, exhibition | 20. ca{uliel a@,[l, aAlcdlsel, Yeslot A ...

are type of oll eIl B :

(A) Extension service (A) @HQQL Aat
(B) Reference service (B) deel Aau
(C) Documentation service (C) YQuiet Acil
(D) All of the above (D) GuRelt ¢t

21. Which of the following is the correct | 21. o{l2 caide a8 UaQ2AA WA
evolutionary sequence of classification @siuems su ealdl

schemes ? (4) ydall, olall, Al
(A) UDC, BC, DDC, CC
B) Sl 38l A, ollall

(B) DDC, UDC, CC, BC
(C) DDC, UDC, BC, CC (C) SIS, yslafl, o], {lall

(D) UDC, DDC, CC, BC D) SR, SISl ), oflall
22. Which of the following budgeting 22, oflAoil Ul 56 vielwuslla ualui
methods does not take into UGl BUas A vilal [QuReuHl

consideration previous income and AclHi aell

NN ,
expenditure : (A) Fuden 2ietrux

(A} Formula budget

B) AAAxs viesu
(B) Zerobased budget (B)

(C) Programme budget (C) YlolH vEIwUA

(D) Line by line budget (D) ciel ol el AELBUA

23. Modes of formation of subjects is a | 23. ([An2lle] QAtiQl sratell AR A

part of o el B.
(A) Cataloguing A) yRsw
(B) Indexing (B) ag@&?@,t
(C) Classification (C) alls2al
(D) Documentation (D) YAl
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24.

25.

26.

27.

28,

URI stands for

(A) Uniform Resource Identifier

(B) Universal Resource Intermediate
(C) Union Catalogue Resource Input
(D) United States Resource Institute

The acronym LAMP stands for
(A) Library Archive Management
Programme

(B) Laser Analysis and Multimedia
Performance

(C) Linux, Apache, MySQL, PHP
(D) Library Automation Management
Programme

The Chairman of the Library
Committee appointed by U.G.C.
in 1957 was

(A) Dr. P.N. Kaula
(B) William Borden
(C) Dr. S. R. Ranganathan
(D} Dr. S. Radhakrishnan

The MARC project was initially
started between

(A) USA and India
(B) UK and India
(C) UK and USA
(D) UK and Italy

When a hypothesis is stated
negatively it is called

(A) Relational Hypothesis
(B) Situational Hypothesis
(C) Null Hypothesis

(D) Casual Hypothesis

24.

25.

26.

27.

28.

URI af Y3 eliH :

(A) YRR RAA wsdedlsiaR
B) YRl RAY seMBAe
(C) YRatot 32clo RAA oty
(D) Yoleszs wed RAR swdleye

LAMP o] Y3 oll¥ :
(A) cusAd vusida AN Youn

(B) AR Aol Nos HedlAB20
WSHoU
(€C) [@otsat, wud, HiA YA,

Rl
D) S AN e HeloHo2
Yl
ay 1eusul Yl st Luddl
s3] sG8lell AN &ell.
(A) SL L. Aeat. sleut
(B) (A2 et
(C) SL AU, VR, leli8let

(D) SL AU, AFWIet

‘Wb Ulgse’ A3Hl Sloll R 243 scuMl

el &l ?
(A) YAUN A Gt

(B) 23 el GlRcl
(C) Y5 U Yuluul

(D) ¥ il seel

o2l GesCUstlall otsIAMS 13l AW

DA 5
(A) UdeL GeHCUoll

(B) uRRAQ%e=L Gescusll
(€) RRes Gescustl
D) YL Gescusil
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29.

30.

31.

32.

33.

The technology that can be
successfully used for digitization
of old books is

{A} MICR Technology

(B) OMR Technology

(C) OCR Technology

(D) RFID Technology

Facts of file is a weekly digest of

{A) Indian events
(B} American events
(C) World events

(D) England events

Who said reference service is
“Humanism in Practice” ?

(A) Eugene Garfield
(B) Berwick Sayers

(C) S. R. Ranganathan
{D) C. A. Cutter

Soloman four group design is

related to

{A} Field studies

(B) Pre test - Post test control group
design

{C) Data analysis model

(D) Statistical technique

Journal Citation Reports is
published by

(A) ALA

(B) IFLA

(C) LA

(D) ISI

29.

30.

31.

32.

33.

%ol Yctsloll [3atedatet M2
UsOcliyds Gualol ae asta adl
esollclly &

(A) Ax e A 2w sl

(B) 2l vt w2 259U

(€) 20 Al 2R 2sollcAl®

(D) R 3lg wE S| selAD
‘Ysey WS SITA ol wslls
UAU 8.

(A} elRcllat el

(B) wARsel Yozl

(C) dEls uzeul

(D) Socls Uzt

deel Aal A guollan 8ot Ul & -

AL [Autat Slof & ?
(A) YW aulses

(B) s A2zt
(C) AU, R, 3leliel
) Al 3. se?

A M 512 YU RBAeSol iR D .
(A} 82 weul

(B) N 2 ~W@ 2 sefladl YU
Boleet

(©) 3aL Well@fn »Wet
(D) uisstdlal yQRRA

‘golcl U2t IS otl ysias -
(A) A A A

(B) 85cU

(C) e A

(D) AU Ay W
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34. ANOVA technique is used in
(A) Multiple samples
(B} Unique samples
(C) Both (A) and (B)

(D) None of these

35. The term “Big Data” is used to

describe

(A) Search engine
{B} Cloud computing
(C) Web 3.0

(D) Structured and unstructured

voluminous data

36. One of the following is not an open

source software
{A) Dspace

(B) MS-Office
(C) Green-stone

(D) Koha

37.

represented by
(A) 101
(B) 001
(Cy 111
(D} 100

In Binary Number System digit 7 is

34. wlellal (ANOVA) yld@ell Guallal AL
A ) ?
(A) Hlua e

(B) yls Auet
(C) (A) ual (B) viat
(D) WML Bs Ut olel

35, oflol 321 ue Ao aglel scu H2
cduRgnA 8 ?
(A) ¥ Aot

(B) scuBs snylo

(C) Aul 3.0

D) AR U RARRAA HLow]
uAnadl @Qye Mot 32t

36. ol Actnio] As vilust A Wgedr ol :
(A) Sl

(B) Au A — B

(€) Mot — et

D) sl&l

alleld] etz RzeH Hi Slye 9 sla
cold & ?

(A) 10

37.

(B) 001
(C) 144

(D) 100

e
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38. UAP stands for 38. 3y A U(UAP) o U3 ol :
(A) United Academy of Publications (A) ?:1,01[&5%5 AHIH U & Yocllateu
(B) Universal Association of (B) q[ac{%ic—t ANRA A 218
Publications woecllolen
(C) Universal Availability of () Yaid wadlollclél s
Publications wocllbaed
(D) United Association of (D) Yotlef2s RN e A
Publications usElBatet
89. E-Pathshala is 39. & — wsEl B :
(A) Open access source for various (A) [QlQu weupsHlell Qust AUsAY
courses Ald
(B) Commercial database (B) duetdl 321
(C) Directory of institutions (C) olclltSol WoALusHlo] w20%al
conducting online courses 52c{l Areudledl (335271
(D) List of online courses (D) el weausHloll A€l
40. Which one of the following is the 40. 3ot Matet et ASATNR oll
implementing agency for “Capacity FURAEL @Sl ‘:lcjfaﬁﬂ UHA
Building” activity of National ofl Aottiioll 585 el 53 & ?
Mission on Libraries ? (A) Redl uoclls cusaldl
(A) Delhi Public Library (B) Adletet cusSAL] 25 slda
(B) National Library of India (C) St aur &3l
(C) DRTC (D) A% AHHEel AU ASA
(D) RRRLF $tGad 2ol
41. is a legal document and | 41. 3 sAElSla YAW B ua dell
can be used as a source of industrial Gualol wWebls Hl@cﬂotl Alct
information. 3w B,
(A) Report (A} Udaud
(B} Law review (B) staetoll wallau
(C) Patent (C) Weee
(D) Pre-print D) 8- Qe
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42.

43.

44.

45.

In the process of conducting
research ‘Formulation of

Hypothesis’ is followed by

(A) Statement of objectives
(B) Analysis of data

(C) Selection of research tools

(D) Collection of data

The essential qualities of a

researcher are

(A) Spirit of free inquiry

(B) Reliance on observation and
evidence

(C) Systematization or theorizing of
knowledge

(D) All of the above

Which technique evaluated work

done by an employee ?

(A) PPBS

(B} PERT

(C) Performance appraisal

(D) Operations research

The idea of Thesaurofacet was

developed by

{A) G. Bhattacharya
(B) S. R. Ranganathan
(C) Jean Aitchison

(D) Derek Austin

42.

43.

44.

45.

Aot 618 UR wRetell Bl

‘BesCUslte] [(AUlRQ (Formulation of
Hypothesis) 2l H(2 GUAR{ o & ?

(A) &2l ealacu

(B) cleRlle] Yussw@t

(C) 2Aatot Atallell Urieoll
(D) cellell U6

Aglugetl viLagAs 2Ll 8.

(A) Hsct 3 Yueell ol
B) Rdlae vat yaa ur el

(C) sllote] cua®As0L AUl s
RglAledl 2aesidl

(D) GuRelt olkil

s3] gt s Aug sl wieR] B
A 56 UQM g2t AsAcuHl A B ?

(A) Yl leliatu (PPBS)
(B) ue

() UEHU AR
(D) AU Il

RaA3A20 Que Qsuast
(A) 2. agruad
(B} Al BR. Wlelllet

(C) %ol ANesluet
(D) 33s Wdlet

I
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46. INFROSS is an important study
frequently quoted in
(A) Historical research
(B) Survey research

(C) Experimental research

(D) Case study

47. Kent’s Encyclopedia of Library and
Information Science is published in

volumes.
{A) 16
(B) 50
(C) 27
(D) 72

48. The deep web is
{A) The Internet
(B) The part of internet which is

hidden from search engine

(C) Telecommunication signals which

are not seen

{D) Failure in accessing the web pages

49. ISSN in India is assigned by
(A) National Library of India
(B) Raja Ram Mohan Roy National
Agency
(C) National Science Library, CSIR-
NISCAIR

(D) ILA

46. SoSlU (INFROSS) ¥l s oledall
oAU B ¥ Al GeAlld wa &

(A) Adsiu dluet
(B) udaw dalltiet
(C) YeloleMs glttol

(D) 3u sl

47. Yool AetrausclllRan 218 cusadl

Wos Bosilalel MU . U3 YsiBlcl
20 9.

(A) 15
(B) uo
(C) 9
D) 92

48. ‘Slude A ____ B

(A) o202

(B) Hozalzell As oL ¥ U2
Woatell wasd &

(C) &R Yelldoioll 200 B agtMlot otell
(D) Aot Uxal cluzctl R

49, GULRcHL BT VA A et (ISSN)
saliell vuaHl wwd B ?

(A) slaleld cuefalt vy slBau
(B) 2Aost AHMEet AU algledct Aol

(C) AlslEl AR ASAT],
AAwusuuR — Rudz

(D) s vl N
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50.

51.

52.

53.

Federo is a

(A} Programming language
(B) Operating system

(C) Library consortium

(D) Digital library software

Paul Zurkowski initiated the concept of
(A) Information Literacy

(B) Literary Warrant

(C) Information Generation

(D) Information Overload

Data Mining is

(A) A technique for searching large
scale databases for patterns

(B) A database used for reporting

(C) A repository of an organisation’s
stored data

(D) The process of designing, building
and maintaining an organisation’s

database

Librarianship needs specialised
knowledge imparted in various
library schools, because it is a

(A) Vocation

(B) Profession

(C) Business

(D) None of these

50.

51.

52.

53.

%33l (Federo) 9 & ?

(A) Jlouor Aoder

(B) Au2dlot Reu

(C) A3 s(lan

D) Slwed ARl As2a?

Wl B8lersl A ol [Qeuasit
galcll &ddl.

(A) oot (A2l
B) @223 dlree

(C) BesHalot %olRUol
(D) BogHalot AWeRElS

32l Higo{lot Q.

(A) el waett d2ax3H ARy
uglall it A sl As usld

(B) uUdcud % scl 12 Gulell
321

(C) ¥ralsll 2Eld 3etell Wy
Adofledl

(D) renett 2ol Slsteellan, Anlal
wa uviteell wBa

Jauclica 12 [@Au sjaaa Rlaw

drauall QA2 suot Yetat 52 B R0
us ]

(A) RA%OUR

(B) caclalt
(C) U
(D) wHie] As el o8l
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54.

55‘

56.

57.

Full form of “JOCLAI” is

(A) Joint Council of Library

Association in India

(B) Joint Office for Collecting

Information for Libraries

(C) Jordan’s Catalogue for Legal

Archival Information

(D) Joint Committee of Advisors for

Libraries in India

“Quality Circles” in organization is
used in

{A} Personnel estimation

{B) Personnel evaluation

(C) Budgetary control

(D) Participation management

ERIC database is published from
(A) UK

(B) USA

(C} Germany

(D) India

The concept of SDI was originally set
forth by

{A) Mortimer Taube
(B) Derek Austin

(C) J. E. L. Faradane
(D) H. P. Luhn

54.

55.

56.

57.

“JOCLAI” o] Y3 oltM:

(A) e 516 s USAA
AARAglet Bet BB

(B) o2 23 512 sAsIol BosHalet
82 Ay

(C) AU 32t 512 Aol wusisad
BegH{2let

(D) o2 sMEl 2 Ascues» &2
ASAAR et vladau

AdNsetHl Datatll agdol’ ol Gualor ___
WA 8.
(A) sHdl viete

B) sudl yeuise
(C) deluRa (Rl

(D) usewlldl et

ARs (ERIC) 320ty siall yRe wa
D ?

(A) Y3

(B) yalud

(C) el

(D) elRd

uiealysd Wil Yy (SDI) ol
et [CQetaett S vl ecll 2
(A) HEHR AR

(B) 338 wdlat
(C) %. &. A, 34

D) WA L. et



”

58.

59.

60.

61.

62,

“Shodh Sindhu” is initiated by
(A) UGC

(B) DELNET

(C) ADINET

(D) INFLIBNET

SCOPUS is a/an

(A) Indexing database

(B) Numerical database

(C) Full text database

(D) Abstract and citation database

Who among the following is called
“The Architect of Public Library
Movement in India” ?

(A) Dr. S. R. Ranganathan

(B) lyyanki Venkata Ramanayya
(C) Sayaji Rao Gaekwad III

(D) Dr. B. S. Kesavan

According to Ranganathan, many
collections lose its relevance in how
many years ?

(A) 20 years

(B) 30 years

(C) 40 years

(D) 50 years

BSO stands for

(A) Basic Scientific Order

(B) Broad Scientific Order

{C) Broad System of Ordering

(D) Basic Source of Ordering

58.

59.

60.

61.

62,

‘e Ay ol azld 520U
A) Y.l

(B) 3t

(C) Wslae

(D) Bosclluae

WUY (SCOPUS) g & ?

(a) LlERsQ 32109

(B) uisstsla el

(C) yel wisd(Full Text) 3216l
(D) AR Vol G&RAQ 32101

ol Aeuuill Sl ‘@Rdell udxls
Jalcel Aaan’ oft Ydldl dlk
v cHl vud 8 ?

(A) SU . R, WLeli¥al
(B) satsl dsa ALt
(C) UAYAA UASAUS-3
(D) st ofl. vl Jalast

2olatilotolt Ml 3ol Hlal eldlell 4916
3ectt o dofl AWsicl opucfl & B 2

(A) 20 adl

(B) 30 ax

(C) ¥o ad

(D) wo ad

oll Ay 21 (BSO) o Y3 ol
(A) QAolls waSlEs U8R
(B) dlls ducl(Es v

(€) dlls Rren s 28Nt
(D) Afls A g w08aL
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63.

64.

65.

66.

Organizational structure is the
{A) Structure of library building

(B} Delegation of authority within an
organization

(C) Modular building

(D) Blue print of structure of an
organization

ISO 2709 exchange format specifies

{A} A three part record structure

(B) The tags to be used

(C} The size of the magnetic tape

(D) The cataloguing code

Who said “Public library is the
responsibility of local and national
authorities. It must be supported by
specific legislation and financed by
National and Local Governments” ?

(A) Dr. S. R. Ranganathan
(B) Gopal Rao Ekbote

{C) Sinha Committee

(D) UNESCO Manifesto

The full form of APUPA is
(A) Andhra Pradesh University
Publication Academy

(B) Andhra Pradesh University
Publication Avenue

{C) Alien-Penumbral-Umbral-
Penumbral-Alien

(D) Alien-Penumbral-Union-
Publication Academy

63. AdIEsllcHs HIOY &
(A) dUAAU elcele] HIOWY

(B) dotsetil Aol Augll

(©) uldzu (syeR) eidst

(D) ddtsetell HiMLefl 3URUL

64, w1 AY 3l 290¢ (ISO 2709)
A ey Sl2 U 52 B

(A) 2lRL eoLallg] As YAu Hoy
(B) As GuAloHl Aalell 20t

(€) NoAdls 2uell WS

(D) YR AU
“ddesls ojaEdl A eUls ua

ANt sallell AxiHsellefl rateeldl

8. AR AUA A QR WL sl

el Aues flat A reulls
U513 131 sRlsta AeAL Yl

A AR L [Atuet S8 2% 5T & ?
(A} SL A IR, Wletist
(B) SUWLEA 2Act 56l

() Rsl sMdl
(D) yaAsl Aol

APUPA ¢f Y3 oll{

A) uiy yta YRl uocldsio
w33a]

(B) uiy yal yAadl usclldost
Aclod]

(C) Acllvtot- UoiolE - G-
Qo Aellnet

D) Aclluot- Aofrodct - Yoot -
woellBaet w33l

65.

66.

I
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67.

68.

69.

70.

71.

Library of congress classification
scheme is

{A) Almost enumerative scheme
(B) Almost faceted scheme
(C) Freely faceted scheme

(D) Purely enumerative scheme

Who coined the term Blog’ ?
(A) Peter Merhotz

(B} John Berger

{C) David Weiner

(D) Michael Zeinne

The Farmington Plan is associated
with

(A) Library Legislation

(B) Library Cataloguing

(C) Library Cooperation

(D) Library Indexing Service

NACLIN is sponsored by
(A) INFLIBNET
(B) MALIBNET

(C) DELNET
(D) NICNET

National Knowledge Commission was
launched under the Chairmanship of

(A) Nandan Nilekani
(B) Deepak Nayar
(C) Sam Pitroda

(D) Ashok Ganguli

67.

68.

69.

70.

71.

Al A g sl asallsze uald
sl ysiell B ?

(A) olgtll AQouaH usld

(B) olgtu Yusla ugld

(C) Y5t Yusla ugld

(D) Aygl owetad ugld

‘ool (Blog)’ ue S1& ylQuilRd
53 &d ?

(A) dler uslew

(B) %dlot 6l%?

(C) 3[s AR

(D) HISSAH Bt

siogot wellel A il B,

(A) sjauetat iRl

(B) sacia yRs\

(C) slaucial Asst

D) sjanca AEAls2w Acw

Asc{lot (NACLIN) A Y2N%el el
(A) Boscllolnz

(B) Aclleale

(C) 3l

D) [Asa2

Aol lA% sMeet it ANt
UE 3601 A3 sAUML R &d.

(A) olget ollaisell

(B) €lus olla?

(C) ax st
(D) wells atiogell
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72.

73.

74.

75.

76.

‘Little Science and Big Science’ is

written by

(A) Derek J. de Solla Price
(B) I. N. Sengupta

(C) Alfred J. Lotka

(D) I. K. Ravichandra Rao

Library of Congress is in
{A) New York

(B) Washington

{C) Chicago

(D) Boston

NOPR is developed by
(A) DRTC

(B) NISCAIR

(C) INFLIBNET

(D) 1ISc

According to Colon classification
‘favoured country’ is

(A) Japan (B} India

(C) Britain (D} America

Arrange the following catalogue codes
in chronological order
i. CCC
ii. AACR 2
ili. Rules for dictionary catalogue
iv. AA code
Codes :
(A) iii iv i ii
(B) iv i i i
(€) i iv i iii

D)i i iv iii

72.

73.

74.

75.

76.

‘dlecd d2ne Aos oflot AR Ul
AW

(A) 33s % S Act WU

(B) wE. Blet. Uoldficlt

(C) S ¥, clest

(D) 208}, A A

‘ASAFL vy SIPA sell ABML B ?

(A) b

(B) <l@loest

(C) @san

(D) oreet

Aot 2l Yl wR (NOPR) 518! ([@slld
5e] ?

[A?)i SLaz & Al

(B) [k

(C) Sesclletae

(D) 2 e A AL

sletol scuRBSaatul ealcau yosol

‘Hiollcl 2or 521 B ?
(A) eulet

(C) (daet

(B) el
(D) wUARsL

oll Aol YRRUBARAA Aoli SlEUefsHM

allsdl
il Al

i, A A Al wur -2

iil. 34 R Baetd daclal
iv. 3 A 8ls

sls :

(A) ili iv i i

(B) iv
©) i iv i
D) i i

m 11
i

iv 1t
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77. Arrange the following abstracting

78.

periodicals in order of year of their
print publication with the help of
codes given below :

i. Chemical abstracts

i1. Sociological abstracts
iti. LISA

iv. Biological abstracts
Codes :
(A) it iv i il
(B) iv. 1 il iii

(€ i v i ii

D) ii it i iv

Information is a commodity because
it has following properties :
1. Supply of information but

consumer surplus
ii. Demand of information

iii. Cost of information

iv. Marketing of information
Codes :

(A) i, il and iii are correct
(B) i, iii and iv are correct
(C) All are incorrect

(D) All are correct

77.

78.

(A WAL URSW WHRSIA AHell

Had ystatel ay yorol Slsell Gurllol
s3lsl olsdl

i ¥Psc Aesey

ii. WERNADSH AR seH
i, ellan

iv. ollAAlYSH BleResEU
8ls :
(A) i iv i i
(B) iv i i ii

iv il i

Q) i

(D) it i i iv

HRA A Aer autaell azd B, st
A o{lA yoroiofl cua@sdl ©AA B :

i HRdloll Yyabl & ud Guells<l
Sl Ul &

ii. HRAA Hial

i, B loll Bud

iv. Wledle Rt
8ls :

(A) 1, il el iii AW D
(B) 1, iii el iv MLl &
(C) ot A otell

(D) il AR &
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79. Which of the following are “Open 79. o{lAott Ul 58 ‘WlUct WA 50202
Source Content Management NaxNee R’ & 2
SyStCmS” ? i. {{LlC*l
i. Drupal ii. waay
i. Atex ifi. FHEU
iii. Joomla iv. wUal ¥l WH AX (Open CMS)
iv. Open CMS 8ls :
Codes : (A) i, i el ivAR B
(A) 1, 11 and iv are correct B) i, il W i ;3' )

(B) 1, it and iii are correct
_____ (C) ii, il wWa iv WY B

(D) i, iii and iv are correct (D) 1, iii Aal iv E-ll.?:i 2]

80. Ethical decision making can be | g0. a[ds (Aefat uBaual UdLREell Yesloll

described as the inter-section of key AUl Gu-[Qeusset dfly aglaaunl
components, they are e ®
_ 1. saerdl, [aa, Rans,
1. Laws, rules, regulation, code of BLARUBAL
conduct 2. alds Rgla yBauell s
2. Ethical decision making codes 3. yell val ulrslds youd

3. Values and cultural influences 4. 1o scaURl 12 sRugdl

4. Commitment for social welfare

Codes : 8ls :

(A) Only 1 (A) WA 1

(B) 1 and 2 both (B) 1ual 2 olal
(©) 1,2 and 3 (C) 1nal 2Ka 3
(D) All mentioned (D) eeddeu oty 4
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81,

82.

83.

Arrange the following according to
their year of enactment.

i. Information Technology Act
ii. Copyright Act
iii. RTI Act
iv. Digital Millenium Copyright Act
Codes :

(A) il iv i il
B) il i i iv
(€ i i il iv
(D) ii i iv i

Arrange the following according to
their year of emergence :

i. RDA

ii. ALA code
ili. FRBR
iv. AACRI1
Codes :
(Ay i il
(B} ii iioi
(C)iv 1 1
(D) ii

i iv
1ii
v i
Assertion (A} : Libraries are facing a

threat and are possible to disappear
soon.

Reason (R) : Due to the introduction
of web 2.0 components no users are
turning towards libraries.

Codes :

{A) Both (A) and (R) are true

(B) Both {A) and (R) are false
(C) (A) is true, but (R} is false
(D} (A) is false, but (R} is true

81.

82,

83.

ol Aot Aot wREUHA A U2

3&6&1 :
i R 2slA@l wRAanH
ii. sldlase A@A2am

iii. R wEstx ABRUH RTI Act)

iv. 3yged MAllan siflase
wRAan

sls:

(A) i iv i i

B)ii i i iv

(C)ii i il iv

(D) ii i v i

oflAellal AHell Bgal cdloll 5H BogAUR
alsal :
iR slA
i A e A sls
iii. As wR ofl R

iv. A A w1
8ls :

(A)i i iii iv
B) ii v iii i
(C) iv i i iii
(D) i i iv i

580l {A) dfcRl 5 YSReAL USSR
AHA 531 26U B A A ssusll A
acltefl sl B,

1201 (R) : Aol 2.0 el 2ilArs1al 5128
516 Guelseit JsAHA dRS vllcidt «1¢l
8ls :

(A) (A) wal (R) ol 2wt B
(B) (A)ua (R} olal WeL B
(C) (A AY B, g (R W B

(D) A)WE B, VR (R)UY B
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84.

85.

Assertion (A) : University libraries
in India are not fully automated.

Reason (R) : Priority is been given
only on the development of OPAC

and automatic circulation section.

Codes :

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is true and (R) is false

(D) (A) is false and (R) is true

Assertion (A) : Online services incur
heavy investment at the initial stage.
Reason (R) : Online services are

costlier than print services.
Codes :

(A) Both (A) and (R) are true
(B) (A) is true, but (R} is false
(C) (A) 1s false, but (R) is true

(D) Both {A) and (R) are false

84,

85.

s8ol (A) Gl [AalQauaa sjsucaal
dyglud eidw@d oell .

5120 (R): Ht=t 205 2 i@t
uRsHet [Qewotel % WAl Ml
wcll 8.

sls :

(A) (A) wal (R) olat uiw &
(B) (A) UR (R) oial vllet &
(C) A B, wa (R)vlE B

(D) (AWE B, wua (R) WY B

s8el (A) : Voot Acuall HE A3HL
wol Wig A5t 53¢ %33 8.

S0 (R) : YRt Rl sl

ot cteSol AcuAl Hiell 8.

8ls :

(A) (A) el (R)oial M B
(B) (A} B, Ud (R} vilg B
(C) (A)ulg 8, Uq (R):Y B

(D) {(A)ua (R)olol ullel 8
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86.

87.

Assertion (A} : Information literacy
provides training to use maximum

resources available in a library.

Reason (R) : Large number of

online resources are available in

the library.

Codes :

{A) (A) is false, but (R) is true

(B} Both (A) and (R) are false

(C} (A) is true, but (R) is false

(D} Both (A) and (R} are true, but (R)
is not the correct explanation

of (A)

Assertion (A) : Present decade has
accepted E-journals as channels of

scholarly communication.

Reason {R) : E-publications have
added enormous quantity of literature
but have affected the quality of

research.

Codes :

(A) Both (A) and (R} are true and
(R) is the correct explanation of {A)

(B) Both (A) and (R) are true, but (R) is

not the correct explanation of {A)
(C) (A) 1s true, but (R) is false

(D) Both (A) and (R) are false

86.

87.

soal (A) MUl WAL djeycani

Guaott Bllclloll HenH Gualotell cdielln
yil uid 3.

SIRQL(R) : dlaucani [Ayet oMl
VlolcllPat Bl GUAs 8.

sis :

(A} (A)uig B, Ud (R) Wy &

(B) (A) ual (R) cial vilaL B
(C) (A) WY B U] (R)Wlg B

(D) (A) ¥ (R) tlol A B U (R)
W (A)e] WY sl 54 «tel

5ol (A) yciiiel sl (QAgct

Yelldotoll HitH a3} B-wolcat

ellstall B -
1201 (R) : B -Usiaeld (Aya evzauni

Wl GAA sl & ug Asllustoll
gpRlarl UR Aol wuR ud 8.

sls :

(A) (A) vt (R)oisl A B, ua (R)
A (A)oll Al Ayl W B

(B) (A} el (R) clal U B, URd (R)
A (A) ol Al Wzl vuud otell

(C) (A) Y B Ud (R) W B
(D) (A)uial (R) oial vilet &
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88.

89,

Assertion (A) : Electronic access to

information is becoming easy day by

day.

Reason (R) : The print material

published in the world show

decline.

Codes :

(A) Both (A) and (R) are true, but (R)
i1s not a correct explanation

(B) (A) is true, but (R) is false

(C) (A) is false, but (R) is true

(D) Both (A) and (R) are false

Assertion (A) : Many libraries do not
have collection development policy

and yet have sound collection.

Reason {R) : Demand driven
collection plays a strong role in

having a sound collection.
Codes :

(A} (A) is true, but (R) is false
(B) (4) is false, but (R) is true
(C) Both (A) and (R} are true

(D) Both (A) and (R) are false

88.

89.

s8let (A): 2 (£ad sAsgllls
WRA Yl wRre ootcdl o &

S1RQL (R) : [Qaul et wmoflott
ustaleti  gatst sl Holl 26l 8.

8ls :

(A) (A) ¥ (R) olal WA B UG (R)
A WY U5\ 5 otell

(B) (A) WY B ud (R) wig B

(€) (A) W B uRg Ry 8B

(D) {A) val (R)uia W2l &

st (A) : Hl2leUotell djaUlcHL dae

@Astd oA otell AH Bl Anell WA
g s B.

51RQ1 (R) : ¥H& UAUS Slall Wwesn HidL
AUt Ao1s Hecatoll efilst el B,
8ls

(A) (A) WY B U (Rulg B

(B) (A) W B Ud (R) WY D

(€) (A)ual  (R) ol 2 &

(D) (A) vtal (R) ol vilel &
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90, Match the following and select the
correct answer from the codes given

below :
List -1 List - II
i. Zip’s law a. Author’s
productivity

ii. Lotka’s law b. Impact factor

iii. Bradford’s law ¢. Word frequency

iv. Eugene d. Law of scattering
Garfield
Codes :
i il iii  iv
(A) c a d b
B) ¢ d b a
) c a b d
D)yd ¢ a b

91, Match the following and select the
correct answer from the codes given

90. o{lAoy AscaA %S| U (A eallde
stsHiell AR Gri? urle sA -

ALE] ~ 1 lél- 11
i sflvd el a. Auisell
BalE sl
ii. cllesid A b. yeua ues
(Frlse §s5e)
iii. QlsSéA A C. 2AsE Uslelet
A
iv. %ol d. cll s
aRA%es B3t
8ls
i i il v
Ay c a d b
B) c d b a
(C) c a b d
D)d ¢ a b

91. (Ao [Asclal HS wal {lA eaddell
slsuigll A Grik ude 53 :

below :
List - I List - II el - 1 wel-1
i. Content a. One of the L {Quaarg  a alltuatoll
analysis methods of qasswl As usld
research i yaacl b. JBUHS
ii. Questionnaire b. Qualitative yass ugld
method ii. Ada o Al (Direct) us@
of analysis
iii. Observation  c¢. Direct method iv. 3 edl d 32t AsEAswy
iv. Case study d. Data collection GusW
tool sls
Codes : y _ iodi 6l v
@) s o icili b A) a2 ¢ d b
B b ¢ a d B) b ¢ a d
) b d a ¢ €) b d a ¢
b d ¢ a b)) b d ¢ a

(D)



92. Match the following and select the

correct answer from the codes given
below :

List - I

i. National
knowledge
commission

ii. Berne b. Sam Pitroda
Convention

iii. Communication c¢. Copy right
model

iv. National d. Shannon
information '
policy

List - 11
a. Bhattacharya

and Weaver

Codes :

i i il v
A) b
B) a
€) ¢
D) d

PO oo
(w N G o N o N
o o o p

93. Match the following and select the
correct answer from the codes given
below :

List -1 List - II

i. ibid a. In the work cited
1. Op. Cit b. Same as above
iit. Loc. Cit ¢. On the same page
v, Vide d. See
Codes :

i #H i oiv
(A b a ¢ d
B b ¢ a d
(C) d a b ¢
(D) a b d ¢

92. o{lAou [Asca M wa [ e2idcu
sloMidll A Gui? ure 53 -

adl -1 algl- 1
i et dlAY  a. e
I DET
ii. ool Sodeslol b, uH [QAst
iii. s3(A39let c. al ase
H3ct
V. Qeletet Sogilae 9 Qotot
AR e QR
8ls :

A) b ¢ d a
B) a b d ¢
€C)c d a b
(D) d a b ¢

93. o{lAett [AscUA A5 Wl oA e2idcu
slomiefl wA Goir yde 53 :

atél -1 atgt- 1

i. ibid a. Auul GeAlla
ii. Op. Cit  b. GUR Yol
iii. Loc. Cit . ¥ % Y% U
iv. Vide d. ol

8ls

i ii iii iv

A) b a ¢ d

B b ¢ a d

€ d a b ¢

D) a b d ¢
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94. Match the following and select the
correct answer from the codes given

95.

below :

List - I
i. Taylor a.
ii. Maslow b.

iii. McGregor

iv. Argyris d.
Codes :
i i iid
(A c d b
B) ¢ a b
(C) a b d
(D) ¢ b a

List - II
Theory of
Motivation
X’ and Y’ theory

. Scientific

Management

Immaturity/
Maturity theory

a0 P

Match the following and select the
correct answer from the codes given

below :

List -1
i, OCLC

ii. Farmington
plan

iii. INFLIBNET
iv. Ohio Library

Share : More
Codes :

i i iii
(A) b d a
B) a b c
(C) b ¢ a
D) ¢ d a

List - II
a. E-journal
consortium

b. World Cat

c. Circulation

d. Acquisition

o A Ao

94. | Aol [@Ascda %S| Aa oA e2lAc
Slonigll MRA GrR UdE 53 :

L€l -1 AL€l- 1T
i AR a. @l 25
Wélastet
i, uRdl b. X ua Y @il
iii. AsJYaIR c. AlAES
AaxNo2
iv. el d. gR0R4E/
N20RE @l
sls :
i i i v
(A) c d b a
B) ¢c a b d
(C) a b d c
D) ¢ b a d
95. ollActl [Ascllal M5 ua oA e2aldcl
sloniell A GriR e 53 -
algl -1 AL€l- II
i. Al a. & -%olcd
serlQlaH
ii. g@loeel wellel - acs 32
iii. gosclluae c. URYALst
iv. 20Ra cwgadl d- Ascloflatot
AR:HIR
sls :
i i dii v
A b d a c
B a b c d
(C) b ¢ a d
DM c d a b




-

96. Match the following and select the

1.

1ii.

iv.

correct answer from the following

codes :

List ~ I

. The Europa

World of

Learning

List - II

a.

Palgrave

Macmillan

Commonwealthh b. Association

Universities

year book

Universities

Handbook

Statesman’s

year book

Codes :

i
(A) d
(B) b
(C) a

(D) d

ii

C.

d.

iv

of Indian

Universities

Association

of Universities
British
Commonwealth

Routledge

96. oot [AscqA %S ua oA galde
slsMigll WA Gk WRiE 83 -

a1dl ~ I atél- 11
iy AUl acd a. yedld
Als bl AsMctet
ii. SlHeAcl b. AARAAAS
YA a{lElos 8D 2ot
BAGE YRa{lEln
iii. Yla{lElos c. AARANA A
e50)8 Yy @dla
slHatacal
iv. U d. 32A%
gu0s
8ls :
i i i v

A) d ¢ b a

B) b ¢ d a

€ a b ¢ d

(D) d ¢ a b



97. Match the following and select the

correct answer from the codes given

below :
List -1 List - II
i. ExLibris a. ProQuest

ii. BiblioCommons b. EBSCO

iii. Aqua Browser c¢. Primo Central

iv. Encore d. Volaris Group
Codes :
i i i iv
(A) c d a b
B) ¢c b d a
) b d ¢ a
D) d ¢ a b

98. Match the following and select the

correct answer from the codes given

below :
List - 1 List - II
i. ALA a. Delhi
il. IASLIC b. Kolkata
ii. SLA c. Chicago
iv. ILA d. Washington
Codes :
i i il iv
{A) b a d c
B) c b d a
) d a ¢ b
Dy c a d b

97. (Aot {Asclla M5 A oA gaildel

slsHigll U Gl ue 83 :
gl -1 adli- 1

i. AsaAofla a. Jlscfle
ii. @Qecllull Slet  b. Aoust (EBSCO)
iii. Vgail oUBxn . YESHL Aoz

O

iv. Netsl2 d. dlcudla gyu
8ls :
i i il iv
(A) c d a b
B) e b d a
€ b d ¢ a

D) d ¢ a b

98. o{lAetl [Ascllal %13 UA oA e2idc

slsHiell WA Gk ue 52 :
afl - I L€l - II

LRada  a el
i, sardls b flasdl
. Ry A A ¢ [lsdl

iv. a8 A A d. fgloieet
als :

i il Hi iv
(A) b a d c
B) ¢ b d
) d a c
D) ¢ a d4 b




-

99. Match the following and select the | 99, ollAail [@sclla %S ua oA e2idal

correct answer from the following Slonigll AA Gk e s :
codes : aél -1 aiél- 11
List-I List -1t il A Al a Nedel
1 OCL(': a. Me‘.cadata ii. socflot §12 b. yRaA
11 Dublin Core b. Oth' i &) 2 2 C. g%
iii. DOI c. NetFirst iv. ol A 4 d. udlaece
iv. CSDGM d. Persistent % AN WS I (E3 9l
identification
5ls :

Codes :

i 6 v i v
A) b a d ¢ A) b a d ¢
B b a c d B b a c d
© c b d a € c b d a
M a b d c @) a b d c

100. Match the following and select the | 100. o{|e [dscdlal %15 wal o(lA £alda

;o;‘rect answer from the codes given Slsuisl w2l G2 ude 53| -
elow :

List - I List — II el -1 alél- I
i Index 4 AGRIS i, Podat gledlAaetH a. Aoflu

translationum ii. Nl b. S~
ii. MESH b. INIS iii. YRALH c. yasl
iii. EURATOM  c. UNESCO iv. Wollells d. Asctgel
iv. AGROVOC  d. MEDLINE 8ls
Codes : i ii iv

i i i v B) d a
A) d a ¢ b B) c
By ¢ a b d Q) a
C) a b c¢c d
M c d b a D) ¢ d a
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